Pythagoras: 4

1. A biplane is 140 metres above the ground when it is 500 metres horizontally from the
take-off point.
What distance, d, has the biplane flown to get to where it is?

1140 m

2. The pine tree was snapped in two during a cyclone.
Use the measurements to work out the full height of the tree
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Pythagoras: 4

4. The size of a television screen is
usually given in inches.
The measurement is the length of the
diagonal.
Use the length and height of the
screen to work out the length of its
diagonal.
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6. You could walk from a ﬁ “"H :-
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Vertical Street. Horizontal Street o o

You could also walk
diagonally through
the park.

How much shorter is
the diagonal walk
than the street walk?
Express your answer ;
as a fraction.
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